204 53 s ® K 15
I KHE 4 . EEFH EBHEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
W g 40 | 1.1 [E 2. 8% 3. 9 1. 9 1.9
2 FH1TH £ — | BEAR — - - -
FEH2~5TH (kR |MEe: — | B&HR (v b T P L Y bR
TR b A X Ja 40 | 1.1 [t 2. 8& 3. O 1.9t 1.9
FH6TH ExeiA 40 | 1.1 W 2. gl 3. 9l 1.9[: 1.9
FET7 - 8TH ML
1 B g — | R (TR ST b T L T b 2
2 ERRLS O HIEL 40 | L1 ﬁthi’%l:n;ttfﬁrﬁttﬁﬁﬁtti’%
AT LA X 40 | L1 Wl 2.8 3. Ol 1. ol 1.9
THREA e A% 40 | 1.1 Fﬁtti’émtt@[ﬁbt%iﬁtti’é
TR AR X g
1 AR IR 0D 2 il P — 6P 12 — -
2 LELU OISR 40 | L1|F 9.9 15§ 1ot 1.9
B BE1~3TH L P 40 | 1.1 [T YETHLTE tti’é[ﬁtt“&
AT LA P 40 | 1.1 (W 2. 8l 3. O 1. Ol 1.9
Higg1 « 2 TH b O 40 | 1.1 [T ST e e T L
T LT X 40 | 1.1 —pffi 3. ot 1. 9 1.9
Rk I 40 | 1.1 [ 2. 80 3. OfE 1. 9t 1.9
oy A AL X 40 | 1.1 ‘rlﬁtl:i”éﬁ?tti’iﬁtt%ﬁﬁtti@
T LR I
1 BEEREURIE P o B A HE K —if 2.8l 3.9 —|  —
2 RERLS O 40 | L.1[|¥ 8.3r: 1206 1. 9l 1. 9
iR Eoeid 40 | 1.1 [ 2.8l 3. 9[;& 1.9[: 1.9
| dedr ot 4R B LI P o0 fi P L K —ft 2. SF 3.9 — —
LIS o s 40 | L1 8.3 11 1. 9% 1.9
Z| Bt Eceid 40 | L. 1[0 2. 8pl 3. 9% 1.9[: L9
% o S 41 L ML ) 00 f D L IR —J#ti 6. 7E . - -
LIS o HHE 40 | L1 8.9 11 9.3 9.3




204 53 s ® K °H
j;rﬁlZHTH 4 BT ‘ _ Eﬁﬁﬁﬁ%% —
SR ks w0 W e w4 [P PERERTIEEETA RS
L #)I11~4TH b I 40% 1.1%Fﬁttzfgﬁttz’§ﬁitt£$tﬂ§l ’

AL % X Ik 40 | 1.1 [l 2. 80 3. O 1. 9 1.9

TILtR e 40 | L1 [0 2. 80 3. 9 1.9l 1.9

7zl £1~6TH L B
1 Bl e — | BEAR (T LT BT L T LY
2 kLA o 40 L. 1 (77 b YT b Y b e L v
AT LR 40 | 1.1 [ 2. gl 3. 9t 1. ol 1.9
ER1~3TH R (A 40 | 1.1 ﬁtt@mtl:z%rﬁhtf%mti%
A A R 40 | 110 2.8 3. 90 1.9l 1.9
m#1 - 27TH (R (aEs: 40 | 1.1 Fﬁtt@[:tt@[ﬁbt?ﬁiﬁtt@
T LA X 40 | L1|F 11 184 9.9% 9.9

BAH3~5TH T Rk
1 M — | B (T LT b Y e T P
2 LEpSt otk 40 | 1.1 ﬂ?tl:hfﬂ&l:tt"‘fégttﬁﬁﬁtt’&

T L X

1 REEHRBAI N O 2 A it 6.6 12— —
2 _ERCEA Ot 40 | L1|% 1y 184 9.9 9.9
B 6 TH EE807 40 1.1 - - - -
e it AR BRI PN oD 52 A 4 X3 —l o650 11— —

ERCLLSR oD Hirksg 40 | L2 8.9t 11k 1.9{’@ 1.9
bl @1 - 2TH b R ik — | BRAR (T LL T b M YT L T

LIRS P 40 | 1.1 —| e 1.9 1.9

HW3~5TH b sk
1 BEHMilh s — | BRAR (T I LR I L T L
2 _EERLSh 40 | 1.1 [T YT b YT e T b v

AT TR X I 40 | 1.1 —|  — L.o@E 1.9

o ABIEL L Kk
1 1588—1% (A—FHOHEE (40 | 0.6 e s
Eir)




204 53 s ® K 3E
A4 - EFH EBHEE
e R ks @ A o w4 [P PEEERTIBEITOGES
| A 2 bRELS oK 40% 1. f?ﬁthzfgﬁttz’gﬁittéﬂittfg ’ ’
A L Xk
1 PSRN o 2 A Hh K —loe.5R0 12 | —
2 FELS o 40 | L1 o9 18F 9.9 9.9
72| R [k Ames 40 | 1.1 |77 T e P L v b
AT AR K ek
1 R N o B A Hh I —fel 6o 120 | —
2 RELEA o 40 | L1 o.gb 17 12 12
I ik 40 | L1 Wl 2.8 3. Ol 1. ol 1.9
(Z| v (R (aEs: 40 | 1.1 Fﬁtt@[:tt@[ﬁbt?ﬁiﬁtt@
TR AR X g
1 REERE N o 2 A O —t 2.8l 3.9 | —
2 bR O IR 40 | LU|F 70 11 1o 1.9
o 8 Ext 40 | 1.1 [ 2.8t 3. 9Em 1.9 1.9
i PARIRET Eeei 40 1.1 — —[ri EL M b HE
S| b ik 40 1. 1 (7T b 28T b SET  2ET e
T LA X
1 BFEREHIRN O R A KR —p#i 6.5 12f — —
2 EERLA O 40 | 1.1|F 9.5 17 9.9 9.9
JIERT Rl bR
1 )1 21 3% (F—HRAOHFZFEEZL |40 | 0.5 - - - —
2 LFEEIA o M 40 L. 1 (7 B SET P YT b T P T
A AR X
1 REIRE e o B2 T Ik —l 6.7l 9.9 —| —
2 LRELIA o Mt 40 L1|F 9.9F 144 8.7% 8.7
NIRRT N b Ok 40 1. 1 |7 b 8T b ¥ e e b T
T LA X
1 EEREHIRAN O B K —pill 6. T 9.9 — -




204 53 s ® K 1H
I KHE 4 . EEFH EBHEE
e R ks @ A o w4 [P PEEERTIBEITOGES
] JRRT U 2 LELADHR w0 | il oot o dnay ||
JNIEHT N T b Kk 40 | 1.1 |77 R T H YR L YA L T
AT {L A X
1 EREiR B s Py o 2 R il KO —i 6. THE 9.90 —| —
2 FEREAAh o Mgk 40 | L1|% 8.3 114 8.3H 8.3
INEERT LA Fr S R B PN 0D f AL Xk —fh 6.7l 9.9 | —
RERLAS 0 Hhi 40 | L1 oo.ofb 14 9.3k 9.3
& P S e B b o8 PR 0D JE Rt Xt ﬁ2ﬁf3ﬂ - -
LERLS o i 40 | 1.1 |4 8.3 11 1.9l 1.9
N BB E 1 - 2 TH |20 40 | 1.1 s
B R b X
1 24—21% (M—FHOMEFEEZS [40 | 0.5 e s
7o)
2 LS o 40 | 1.1 [ e AT PR LT B
AT LR X
1 EEERE M o B XK — 6.6l 12 — —
2 _EELISko M 40 | L1 o9 15% 9.9 9.9
HHX By 40 | L1fMie e 12—  —
IR I8 40 | 1.1 —  —|# 8.3% 8.3
A kR 40 1. 1 |77 b 8T LI e HErT LL 4
T A g
1 RIS o B2 T K I 2.8l 3.9 | —
2 _EFLSh oM 40 | L1U|F 7ol 10 19l 1.9
Hi1~5TH b PO 410 Llﬁ%ﬁﬁ%ﬁﬂ%ﬁ&w@
T LA X 10 | 1.1 - —Flﬂmlﬂ
A6 - 7TH [EEER =1 40 LzﬁwﬁﬁwﬁﬁwﬁLWE
AT LR IR 40 | L2t 2.8  —l 1.9l 1.9
L] R SR BT PN D 2 T M X I —d 6. 5 12 - —
LEIA D iR 40 | 1109 g5 17 12 12




1.

204 53 v Ok 5E
A4 - EFH EBHEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e & & «g 7 #
5 TRFERT [RcE (s
1 )3 781%F (A—FAOHFLE | — | BH -1 - - -
2 kRSO 40 | 1.1 [ b T BRI L YA
AT LA R 10 | 1.1 = —Wh L9 1.9
x| BAHET EEd 40 1.1 H’Tttzﬁlff?ttﬁr;ﬁbtﬁﬁtt@
X Ecs: 40 | 1.1 [ 6.gRE 12—  —
el MALLL - 2TH  |[HELRER 40 | 1.1 ﬁﬁthi’éﬁttﬁfﬁtti@ﬁitt@
T L PR 40 | 1.1 - 1.9rﬁﬁ 1.9
i - [Rcag(Ar%: 40 | 1.1 |7h7 T b M L T L
A LA Kk
1 BEER BRI o 2 Al DX —ft 2. 88 3.9 —| —
2 kREL o HiEk 40 | LL|F 7o0fF 1IE 1 9E 1.9
Bl AB ot 4R B LI P o0 fi P L K —WE 658 12 — -
RELIS O 40 | L1 oo 17F 9.9 9.9
il IR (AES: 40 | L1 [T R YET H YT e R b v
AT AR K ek
1 R st N 0> B A Hh X —fl 6o 120 | —
2 RELEA o 40 | L1|F o9t 179 9.9% 9.9
oy L] kR 40 OO 0 = = = = e e =
T A g
1 RIS o B2 T K I —l 6. e 11 | —
2 LECBUt o HbR 40 | L1|F 8 9F 11F 8.3F 8.3
o FIM1~7 T A b IR 40 | 1.1 [T B YR b AT R
T LA X 40 | 1.1 [0 2. 8%l 3. 9l 1. 9l 1.9




